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2019 (S) Ve D,
SSC PART-l (9th CLASS)

CIVICS Sy
TIME ALLOWED: 2.10 Hours SUBJECTIVE _El» o0 = =y
MAXIMUM MARKS: 60 | 60 = AF
NOTE: Write same question number _4‘-..(-,1:‘;;._4,.;1!:*/;?5;‘3:‘ @u/-f":'}.’ul,rfdlfd:{Qb’Qfﬁ -d

and its part number on answer book, as given in the question paper.

SECTION-l i@

2. Attempt any six parts. 12=2x6 -g{;faylﬁﬁf?ﬂg:’&f -2f.;Ufr‘
(i)  Whatis the difference between Civics and History? ‘?:.:-J)kfuid)'wu/? (i)
(i) Write the meanings of "Civis" and "Civitas". Y18 SR (7 R BN/ S (1)
(i) What is the basic difference between Civics and Sociology? ' SO GAe fees  (ii)
(iv) Describe the meanings of Civics. -uf/b&frx*"ﬁcf(k (iv)
(v)  Write any two differences between Civics and Ethics. -u:’{-ffid)k'wa-&jﬂfégw iecs (V)
(vi)  What is difference between Nation and Nationality? S I/ Uil d (i)
(vii)  How has Lord Brice defined Society? ?‘LJ-é’/‘“’Efd/ﬂ;b”i-qu sl (i)
(viii) What is meant by Rural Community? ?QJV?/LGJ;:IQ?" {viii)
(ix)  Write any two duties of the head of the family. o) /’:‘/;u'fj'ﬁuc'-»&fia' Ll (ix)
3. Attempt any six parts. 12=2x6 _é//uuyévwa_éf 234
(iy  Write the importance of territory for a state. éubuufmﬁ_[..ﬂ»w (i)
(i) ~ What should be the population of a state nowadays? ?é_;_gdﬁpf':ﬁ’bﬂwéaﬁw&vgb' (i)
(iiy  Define the Government. - 40_&,/3&___’,!5 (iii)
(iv)  Who is responsible to make the plan for public welfare? ?q..dﬂuiufuf'c/d)@:" Conal) tﬁ(ff I (iv)
(v)  Whatis the role of newspapers in Islamic welfare state? ‘.'.;.;b/ L_f(al.rt,iwug;d Bt ()
(vi) Describe the new concept about Citizen. - S ML SE (Vi)
(vii) Who is called "Zimmi".in an Islamic State? ‘-‘ug&/d:gfju!.:/pdw' (vii)
(vii) What is the old concept of a citizen? e L BEYS (v
(ix)  Whatis meant by Self Control? ?.?#Jl,ftfc.f.ikb {ix)
4. Attempt any six parts. 12=2x6 ~§":{f:‘b§'££f2|{¢.éf L4
(i) Which is the competent authority to decide ?-f-V/cJ):i—é?é_lgﬂg,JJl;&’Tuﬁur"’)g’\j‘sr"ﬂ'@ LA )
Constitutional dispute between Federal and Provincial governments?
(i)  Describe the functions of Legislature. -jéuk(bfcﬁ;fif (ii)
(i)  Describe two functions of Executive. -‘,c‘.:{c)kukj')»[—z-*@f {iii)
(iv) What s meant by Democracy? UYL et (V)
(v)  Write two merits of democracy. - ﬁd Vesnlecnt ()
(vi)  Write two merits of Dictatorship. ,q;?:Uqu.?»d/q/" (vi)
(viiy  What is meant by Good-Governance? ?‘;;yg;yﬁrwa’z; {vii)
(viiiy Write two functions of Islamic Government. -g‘{{fﬂﬁrﬁéwﬁdw {viii)
(ix)  Write two demerits of Dictatorship. -ﬁgukG::J-z.:/T (ix)

SECTION-II (1.2
NOTE: Attempt any three questions. 24=8x3 _;é_/faglzéammfc,éf O

5. Compare the Civics with the following subjects: _u:.fiu;.fvu’qf(";uirhts@ﬂ -5
History Gt (i) Sociology =i# (i)

6.  Describe the importance of Society. S S 6

7. Describe the role of Mass Communication in a Welfare State. LI SCEME e GT _T

8. Which functions are performed by Judiciary? ?%&Jrlfbfaf"j'f":- olode -8

9. Explain nature and significance of citizenship in Islamic perspective. -L{/f..wusd'a;‘iho:‘!’p(:f.fdw -9
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PAPER CODE 2019 (S) s
SSC PART-l (9th CLASS)

NUMBER: 1171

CIVICS S
TIME ALLOWED: 20 Minutes OBJECTIVE cf?f_’.n? @ 20 = =y
MAXIMUM MARKS: 15 15= AF

S B | ):t:gjl;}h'?&t&fﬁviﬁyua_gﬂ u,;!;éé.;a:védrr,;4¢€qg -ujc‘.‘:{.; D .l C B A c.l,!f-;»ﬁ';éd"'ﬁ oY
(o) Koo A8 e SE Lol St Ml naii Sz Si S S | LS tmlie LI s
Note: you have four choices for each objective type question as A, B, C and D. The choice -q)id’}'}_-,mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

{1) The word "Kratos" means: Y A rS S (1)
(A) Government =%  (B) Wealth = (C) Birth i (D) Companion fi-

(2) The most important task of Legislature is: —e (B e (2)
(A) Break law {2396  (B) Make law thy#6  (C) Enforce law (/%tys% (D) Spoil law t/17yd6

(3) The Highest Court of the Province is to: _:.;._dwdzc;w&,-!‘ (3)
(A) Shariat Court ».4z2 * (B) Session Court &40 (C) High Court 2./ (D) Supreme Court sz

(4) According to Plato the population of an ideal state is: ce Ve e Lid Lyt (@)
(A) 5040 (B) 4050 (C) 4040 (D) 3050

(5) The biggest:country-of the world with respect to population is: ceMixe A AFLGNT (5)
(A) China % (BYlran, i/l (C) Pakistan W&/ (D) Afghanistan @/t/!

(6) The third important element of a:State is: -2 SN e (6)
(A) Population ($5L1 (B) Territory s (C) Sovereignty J‘Ql,ﬁl (D) Government e

(7) The primary school of individuals is: QG (7)
(A) Society b~ (B) Group w1/ (B) Family ¢ist (D) State =L

(8) Pakisan came into being in: AnfiE . (8)
(A) U~ 1940 (B) U +1945 (C) U +1947 (D) U 11949

(9) The base of Pakistan is: —eubidet @)
(A) Wealth =/ (B) Democracy «c.x% (C) Political system r&ist- (D) islam ri-)

(10) Accordingto ______, "Man is a Social Animal". . ?ufa’&;b*uﬂul-ﬁ' el (10)

(A) Ibn-e-Khaldoon w44 (B) Plato w#l  (C) Aristotle %! (D) Shah Wali Ullah “#igssl*
(11) Which one of the following has focused on the progress and ?r,duﬁéJ}'J?&}fou’aufdiw (1)
welfare of individual?

(A) Social institutions ./_..jf;!afb» (B) Government institutions < /!J3%
(C) Federal institutions .»_.;I;IJG: (D) Private institutions a_JfJfo"

(12) The word "CIVIS" means: -UAFL s (12)
(A) City 7 (B) Country & (C) State wrlu (D) Citizen 7

(13) An individual can not fully perform his duties: —CC/UT.‘;‘:'C)@J,’!W}'%—'J/I (13)
(A) Without wealth =/ (B) Without health L =5
(C) Without education L (= (D) Without land L )

(14) Kinds of citizens in an Islamic State are: aufr‘L-"”JU{'fukaJdM (14)
(A) Two 3 (B) Three ¢ (C) Four (D) Five &l

{(15) Generally a person living in a city is called: ﬂc‘_tu-ﬁllx;xuf&»ﬁrk (19)
(A) Foreigner um/f (B) Zimmi (3 (C) Citizen u’f (D) Non Muslim (V,-f
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PAPER CODE

NUMBER: 1173

CIVICS

TIME ALLOWED: 20 Minutes

2019 (S)
SSC PART-l (9th CLASS)

*

MAXIMUM MARKS: 15

st

Jr

OBJECTIVE (%22 220 = =h
15= AF

S oF | /CL):.;’J”’&WLHJ}?MJ)LU: u:fl)":cé..!&b'édfrﬁ{dfdlﬁ -uj'éC{..J D . C B A &&’ﬁkﬁkéd’fﬁ Oy
434l -rz—ﬂ-‘tﬁiﬁ; JJ(JQJJ‘JA-):J, J(J:}"J ..fm:"w..,.alﬁw':hﬂaxfgfi.& AT 4! LS s tmliefl <25
Note: you have four choices for each objective type question as A, B, C and D. The choice _Q)::J'}quﬂlr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Which one of the following has focused on the progress and

welfare of individual?

(A) Social institutions < Fx

(C) Federal institutions < /b (jli;
(2) The word "CIVIS" means:

(A) City 7 (B) Country
(3) Anindividual can not fully perform his duties:

(A) Without wealth &L =/

(C) Withouteducation & A
(4) Kinds of citizens in an Islamic State are:

(A) Two 5 By Three £
(5) Generally a person living in a city is called:

(A) Foreigner &% (B) Zimmi (3
(6) The word "Kratos" means:

(A) Government =% (B) Wealth =/
(7) The most important task of Legislature is:
(B) Make law Lk s6
(8) The Highest Court of the Province is to:

(A) Break law tJJusF

<4 /:}J!r

'?@.dlf?.ul J}Lﬁ,},’f{u’é— U':l/tﬁ——”)

(B) Government institutions o MIFF

(D) Private institutions «/1I(¥

S
(C) State wls (D) Citizen (¢
_Cafu?ﬁ:lb)dxj/ﬂf%bf
(B) Without health L =5
(D) Without land < o2
SV TR TP SR
(C) Four Jle (D)Five &L
o l:‘JJ-;r(Ul,&r-Ju'f f’{ﬂj’(‘lﬁ
(C) Citizen $7 (D) Non Muslim (J'j{
GFL A
(C) Birth Jjb_w_ (D) Companion Lf{l/
PN Ol

(C) Enforce law :./3tys6 (D) Spoil law £/ 176

P
e rie

(A) Shariat Court £f=2 > (B) Session Court 2.4 (C) High Court 2./ (D) Supreme Court Lz

(9) According to Plato the population of an ideal state is:

(A) 5040 (B) 4050

(10) The biggest country of the world with respect to population is:

(A) China %

(11) The third important element of a State is:

(B) Iran iz
(A) Population (7 (B) Territory 3
(12) The primary school of Individuals is:
(A) Society » (B) Group _;yf
(13) Pakisan came into being in:
(A) U #1940 (B) =~ #1945
(14) The base of Pakistan is:
{A) Wealth =

According to

(B) Democracy .~
{15) ., "Man is a Social Animal”.

(A) lbn-e-Khaldoon s (B) Plato o/#b

e T eI T L b
(C) 4040 (D) 3050
cehtze K AT ST
(C) Pakistan /'] (D) Afghanistan /76!
G OV

(C) Sovereignty J“ylﬂl (D) Government o
_,EL__,MJLL‘-_IKJI)I
(B) Family giil (D) State =L
BPoBl
(C) ~ #1947 (D) U= #1949
—e Ut
(C) Political system WL (D) Islam (it
e dAeiul " el

(C) Aristotie £/ (D) Shah Wali Ullah “&1 sl
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PAPER CODE

NUMBER: 1175

CIVICS

TIME ALLOWED: 20 Minutes

MAXIMUM MARKS: 15

2019 (S) A

SSC PART-l (9th CLASS)

V%

L)

OBJECTIVE (3/2e w20 = =
15= AF

S of | A3 L e o s &l Dy g 36317 L D 2 C B A 22l 2
(a4 Kb e SL Lo Sty Ml N rasdb e Si G Sk \ LS tmle Sl -

Note: you have four choices for each objective type question as A, B, C and D. The choice _Q):;d'ﬂ}:.wr

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) Pakisan came into being in:
(A) = £1940

(2) The base of Pakistan is:
(A) Wealth =

(B) - 1945

(3) According to

(A) Ibn-e-Khaldoon sk

welfare of individual?

(A) Sogiakinstitutions el -

(C) Federal institutions -&=ulsigiGs
(5) The word "CIVIS" means:

(A) City (B) Country 0
(68) An individual can not fully perform his duties:

(A) Without wealth /L =/

(C) Without education L
(7) Kinds of citizens in an Islamic State are:

(A) Two » (B) Three o7
(8) Generally a person living in a city is called:

(A) Foreigner uaff (B) Zimmi (3
(9) The word "Kratos" means:

(A) Government «=~F (B) Wealth =
(10) The most important task of Legislature is:

(A) Break law (S5 6

(11) The Highest Court of the Province is to:

(B) Democracy «c.x” (C) Political system (b5
., "Man is a Social Animal".
(B) Plato /s iiil

(4) Which one of the following has focused on the progress and

(B) Make law tbis§

A A
Uty (1)
(C) & +1947 (D) % +1949
Ui @)
(D) Islam g
Seupdfediou el (3)
(D) Shah Wali Ullah "1 sl®
P TV Y T 10} N ()

(C) Aristotle #-

(B) Goverfiment institutions < (j%
(D) Private institutions < isigf
SJRGL oy (5)
(D) Gitizen s
LS Sl P (6)
(B) Without health HL =5
(D) Without land Z o

(C) State =ty

“UrOISug At (7)
(D) Five &4
b S e (8)
(D) Non Muslim /7
GELA @
(D) Companion fp
—e b IAIEE (10)
(C) Enforce law /2tys6 (D) Spoil law t/17gsF
e e e (1)

(C) Four ‘L"
(C) Citizen (¢

(C) Birth Pl

(A) Shariat Court sz 2 (B) Session Court ws™F  (C) High Court 2.5} (D) Supreme Court Lz

(12)
(A) 5040 (B) 4050

(13)
(A) China %
The third important element of a State is:

(A) Population (T

(B) lran i1/

(B) Territory Jus
The primary school of Individuals is:

(A) Society s/ - (B) Group 1)

According to Plato the population of an ideal state is:

The biggest country of the world with respect to population is:

PRURTOCIR Sy 22l
(D) 3050
celite e AW (13)

(C) 4040

(D) Afghanistan /e
(C) Sovereignty 150 (D) Government =l

(C) Pakistan ¢t}

_g._,u.sd'}. I (J‘f.’f

(B) Family it (D) State L.
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PAPER CODE 2019 (S) )
SSC PART-l (9th CLASS)

NUMBER: 1177

CIVICS Sr
TIME ALLOWED: 20 Minutes OBJECTIVE @ﬁﬂ 220 = =h
MAXIMUM MARKS: 15 15= AF

A o | J:L;;;]JJW&WL‘?JLK:—FJJLU: u:}bz‘fé.:&bﬁg)lfﬂ{dw'ﬁ .4,5254.1 DslCBA @L’ﬂ.‘n@kédlfﬂ oY)
YEYR V) ,E'Lkg_l,:uﬁ}.} qufaJﬂfd_L‘é ):Js}l: _(mr".wvlﬁuﬁufa»’tﬁlL& ok § L/qu;}bu&}::...ﬂ e
Note: you have four choices for each objective type question as A, B, C and D. The choice -q/l;d')'}amr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) The biggest country of the world with respect to population is: ceMiye e AML AT (1)
(A) China % (B) Iran i (C) Pakistan ¢t/ (D) Afghanistan ¢!

(2) The third important element of a State is: e AN (2)
(A) Population (LT (B) Territory 3 (C) Sovereignty J‘ul.ﬁl (D} Government o

(3) The primary school of Individuals is: --;_/uéuzf%'}' (3)
(A) Society s/ (B} Group ..;:/? (B) Family &l (D) State =1

(4) Pakisan came into being in: e Gl (4)
(A) & +1940 (B) U -1945 (C) A +1947 (D) J* +1949

(5) The base.of Pakistan is: eVt ()
(A) Wealth = (ByDemocracyy=c.#%  (C)Political system &5 o(D)lslam (1!

(6) Accordingte . "Man.is-a Social Animal". e d g’ Gel _ e)
(A) Ibn-e-Khaldeon s o (B)Plato i+l (C) Aristotle £/ (D) Shah Wali Ullah i ls

{(7) Which one of the following has focused on the progress and ?:‘:ﬂdl%'fnls.j}&f'ffb’ufa-uﬁdi-r’ (7)

welfare of individual?

(A) Social institutions z._;lJlJ;LV (B) Government institutions g_ﬂ;ff:‘;
(C) Federal institutions ;.Jb!(}b'; (D) Private institutions c.JulJ:

(8) The word "CIVIS" means: SRS oyt (8)
(A) City (B) Country (C) State =\ (D) Citizen (7

(9) An individual can not fully perform his duties: S e, }g,g/u‘*"n};_.b) (9)

 (A) Without wealth L = (B) Without health &L =s”

(C) Without education & = (D) Without land 2 o

(10) Kinds of citizens in an Islamic State are: ~UPIISu AUt (10)
(A) Two 1 (B) Three o (C) Four 4 (D) Five &4

(11)  Generally a person living in a city is called: -:‘—tﬂz@:]&wffyﬁ’t (1)
{A) Foreigner u"f/,f (B) Zimmi (3 (C) Citizen Lj/} (D) Non Muslim (Vf_‘

(12) The word "Kratos" means: GEL AT (12)
{A) Government e (B) Wealth =/ (C) Birth Jj!,“s; (D) Companion Lf?lr

(13) The most important task of Legislature is: -9(5'«')[/”(”5’-?3" (13)
(A) Break law tJ3246 (B) Make law (ks  (C) Enforce law L33 7F (D) Spoil law t/_17usF

(14) The Highest Court of the Province is to: «%ﬁ'ﬁdiﬁd’-q«’J{-f‘ (14)
(A) Shariat Court w2 > (B) Session Court 2/ (C) High Court 2.4/l (D) Supreme Court s/ 2

(15) According to Plato the population of an ideal state is: -edﬂbfd/w&xdiffh-{'&u&’f—d?iﬁ' (15)
(A) 5040 (B) 4050 (C) 4040 (D) 3050
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